[EBF*KEAHY 7 10F—L FTRE2Y—F5F—L - &Y —27 1AL RE - 2601F 3R]
FiE: 151K RE: - 33R10-5-10  (FE - RBEDHISEIEDFTIMIEY F > F2ER)
[1  2E4%H®] 6F—L: 109X 1A: £F—L3RE

Aa— b Ba—k Ca—r

8:15| 25K E

8:45 {55 HE AR

9:00 XFEx&ESZE TRESINE REE A

9:15| 1 + 2 EATHEO

~
N
G

9:30|1 + 2 EETHREUO

N
o

KEH v TSINENE

4| H
N
NS

9:45| 1 + 2 EATHEOG

10:00 AV x—>v o7y KEAH v TREENE

10:15|F%E 159 » KETRBA T R EE

10:30|F 159 0

11:00|F 159 B

11:30|F 159 g

12:00 159 %)

\_N

12:30 159 Z

13:00 159 2\

\_N

13:30|F 159 b2}

14:00|F 159 Z

CHCHCHCHOHSISICNCIF

\_H

14:30| & 15% ®

15:00| 3 3R EHL10-5-10 A-2vsB-2

15:30 7&K 10-5-10 A-1vsB-1 ERETET

16:00 A& & T3

17:00| 2N




